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
 is the accusative direct object from the masculine plural cardinal adjective PENTE, meaning “five” and the noun ANĒR, meaning “husbands.”  With this we have the postpositive explanatory use of the conjunction GAR, meaning “for.”  Then we have the second person singular aorist active indicative from the verb ECHW, meaning “to have: you have had.”

The aorist tense is a culminative aorist, which views the past action in its entirety with emphasis on its completion.  It is translated by the English auxiliary verb “have.”


The active voice indicates that the woman has produced the action of having had five husbands.


The indicative mood is declarative for a simple statement of fact.

“for you have had five husbands,”
 is the additive use of the conjunction KAI, meaning “and” plus the temporal adverb NUN, meaning “now.”  Then we have the accusative direct object from the masculine singular relative pronoun HOS, meaning “the one whom.”  This is followed by the second person singular present active indicative from the verb ECHW, meaning “to have: you have.”

The present tense is a descriptive present for what is now going on.


The active voice indicates the woman produces the action of now having a man living with her.


The indicative mood is declarative for a simple statement of fact.

Then we have the negative OUK, meaning “not” plus the third person singular present active indicative from the verb EIMI, meaning “to be: is.”


The present tense is an aoristic present, which views the action in its entirety as a fact.


The active voice indicates that the woman’s present man produces the state of not being her husband.


The indicative mood is declarative for a simple statement of fact.

This is followed by the possessive genitive from the second person singular personal pronoun SU, meaning “your” and the nominative subject from the masculine singular noun ANĒR, meaning “husband.”
“and your husband is not the one whom you now have;”
 is the accusative direct object from the neuter singular demonstrative pronoun HOUTOS, meaning “this,” followed by the adjective ALĒTHĒS, used as an adverb
, meaning “truly, honestly, truthfully.”
  Finally, we have the second person singular perfect active indicative from the verb EIPON, meaning “to say: you have said.”

The perfect tense is a consummative perfect, which emphasizes the completion of a past action.  It is translated by the English auxiliary verb “have.”


The active voice indicates that the woman produced the action.


The indicative mood is declarative for a simple statement of fact.

“you have said this truthfully.’”
Jn 4:18 corrected translation
“for you have had five husbands, and your husband is not the one whom you now have; you have said this truthfully.’”
Explanation:
1.  “for you have had five husbands,”

a.  This verse is the continuation and completion of the statement begun by Jesus in the last verse.  The complete statement is: ‘You have correctly said, “I do not have a husband,” for you have had five husbands, and your husband is not the one whom you now have; you have said this truthfully.’”

b.  Jesus tells this woman something it was impossible for him to know as a normal human being.  Jesus knows that she has been married five times before.  The culminative aorist tense in the Greek is important because it indicates that all five of these marriages are finished.  She has completed her relationship with all five of these past husbands.  She is no longer on marriage number five.  That marriage is over.

c.  Jesus didn’t live in her small town.  She knew everyone in town and on the outskirts of town, and Jesus had never been there before.  She immediately knew that there was no way He could know this.
2.  “and your husband is not the one whom you now have;”

a.  Not only had the woman had five failed marriages (or perhaps they each died one after another, but that is not likely based on what is being said), but she is now living with a man who is also not her husband.

b.  The phrase “the one whom you now have” means “the man whom you now have living with you.”  And he is not her husband either.  They are living together, but are not married.

c.  Not stated, but implied by this statement, is that the woman is living in a state of sinfulness.  The sin would be the sin of fornication.  She is living in a state of perpetual carnality as an unbeliever.  This statement by Jesus would most certainly activate the guilt in her conscience; that is, make her fully aware of the guilt of her sinfulness.  “It is wrong to imagine the woman as brazen and shameless in her confession.  The sin had touched her conscience more than once, but she had hushed the disturbing inner voice.  Now Jesus was making it speak again.”


d.  “Samaritans were no less pious and strict than Jews, and her behavior would have resulted in ostracism from the Samaritan religious community—which would have been nearly coextensive with the whole Samaritan community.”

3.  “you have said this truthfully.’”

a.  Jesus softens the blow to her conscience by commending her for her truthfulness, which is really only a half truth.  “The Greek word ANĒR means either ‘man’ or ‘husband.’  She had her ‘man,’ but he was not a legal ‘husband.’  Her language veils her deceit.”


b.  This statement is also an indirect judgment on her previous statement that she had no husband.  If that statement was meant to deceive Jesus, it didn’t work; for Jesus knows the real truth behind her statement—she had no husband, but was living with a man as though he were her husband.  Therefore, her truthfulness that she had no husband, was only a half truth.  She had a husband in fact, even though not in legal standing.

c.  The real importance in this statement is that Jesus is demonstrating to the woman that she is dealing with more than a mere mortal man here.  Whether she recognizes it or not, Jesus has just demonstrated a small portion of His omniscience.


d.  “After experimenting with five husbands, she no longer found the marriage ritual necessary.  Jewish tradition permitted three husbands, but she obviously had long passed that more lenient rule.  When she said she had no husband at that time, she had in fact stumbled onto an important idea with Jesus—the idea of truth.  Jesus therefore noted this fact clearly.”


e.  Notice that Jesus did not condemn her as a sinner.  “Stopping sinning never saved anybody, so do not present, by deed or word, even the idea that leading a good life can save a person.  Jesus did not tell the woman to leave the man she was living with, but instead presented His claim to be the Christ.  The unsaved person needs to stop being a sinner, not to stop individual sins, and there is only one way to do this, accept Christ as Savior and Lord.”
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